
1 2 3 4 5 6 7 8 9 10 11 12

1 दधू मे गाय 69 0 24 93 1 3 19 0 0 70

2 शुçक गाय 34 0 19 53 0 13 14 0 0 26

3 Ĥͧश¢ण हेतु 15 0 0 15 0 0 0 0 0 15

4 औसर 163 0 11 174 0 7 10 0 0 157

5 मादा बÍचे 49 13 0 62 0 0 11 0 0 51

6 सांड बछड़े 8 0 0 8 0 3 0 0 0 5

7 नर बÍचे 45 10 0 55 2 20 0 0 0 33

383 23 54 460 3 46 54 0 0 357

1 दधू मे गाय 6 0 0 6 0 0 3 0 0 3
2 शुçक गाय 1 0 3 4 0 1 0 0 0 3
3 औसर 6 0 0 6 0 0 0 0 0 6
4 मादा बÍचे 1 0 0 1 0 0 0 0 0 1
5 नर बÍचे 1 0 0 1 0 0 0 0 0 1
6 सांड बछड़े 1 0 0 1 0 0 0 0 0 1

16 0 3 19 0 1 3 0 0 15

दधू मे गाय 13 0 1 14 0 0 2 0 0 12
शुçक गाय 15 0 2 17 0 1 0 0 0 16
औसर 20 0 0 20 0 1 1 0 0 18
मादा बÍचे 14 2 0 16 0 0 0 0 0 16
नर बÍचे 2 0 0 2 0 2 0 0 0 0
सांड बछड़े 8 0 0 8 0 1 0 0 0 7

72 2 3 77 0 5 3 0 0 69

दधू मे गाय 0 0 0 0 0 0 0 0 0 0
शुçक गाय 1 0 0 1 0 0 0 0 0 1
औसर 19 0 0 19 0 0 0 0 0 19
मादा बÍचे 1 0 0 1 0 0 0 0 0 1
नर बÍचे 0 0 0 0 0 0 0 0 0 0
सांड बछड़े 0 0 0 0 0 0 0 0 0 0

21 0 0 21 0 0 0 0 0 21

492 25 60 577 3 52 60 0 0 462

1  गाय 5 0 25 30 0 0 0 0 0 30
2 सांड @cSy 89 0 24 113 0 0 0 49 0 64

94 0 49 143 0 0 0 49 0 94

1  गाय 1 0 2 3 1 0 0 0 0 2
2 सांड @cSy 10 0 3 13 0 0 0 0 0 13

11 0 5 16 1 0 0 0 0 15

1 गाय 0 0 0 0 0 0 0 0 0 0
105 0 54 159 1 0 0 49 0 109

597 25 114 736 4 52 60 49 0 571
* TWH - TRANSFER WITHIN THE HERD.
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